REDROCK

TAILGATE MOLLE PANEL

(2021-2024+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Tailgate Molle Panel 8mm, 10mm Wrench/Socket
(2) M6 'T' Studs Ratchet
(2) M6 Threaded Spacers Plastic Panel Removal Tool
(6) M6 Flat Washers
(2) M6 Lock Nuts
(2) M5 'T' Studs
(4) M5 Threaded Spacers
(12) M5 Flat Washers
(4) M5 Lock Nuts

SKU # FB34976
Edited: 11/21/2023



REDROCK

STEP1

Open the vehicle tailgate. Using a plastic panel removal tool, dislodge the (4) retaining clips from
the upper plastic panel. Remove the panel from the tailgate and set aside.

STEP 2

Fit (1) flat washer and (1) threaded spacer loosely onto each ‘T’ stud. Then, fit each assembled ‘T’
stud into the tailgate slots. Tighten the threaded spacer until snug to allow for minor adjustments
later.

Follow the threaded spacer with (1) flat washer per ‘T’ stud once installed to the tailgate.



REDROCK

STEP 3

Align the molle panel to the previously installed ‘T’ studs. The molle panel will align to the
pre-drilled holes in the panel, test fit and adjust the ‘T’ studs as necessary for proper alignment.
Once the studs are adjusted, tighten the studs into place.

Set the molle panelinto place, and secure the panel to the studs using (4) M5 flat washers & lock
nuts, and (2) M6 flat washers and lock nuts. Tighten the hardware evenly until secure.

STEP 4

Installation is now complete.



	FB34976 - RedRock - Tailgate Molle Panel (21+ Bronco)-01
	FB34976 - RedRock - Tailgate Molle Panel (21+ Bronco)-02
	FB34976 - RedRock - Tailgate Molle Panel (21+ Bronco)-03

